DINING TABLE

ASSEMBLY INSTRUCTIONS

HARDWARES LIST




@\“\\\\\\\\\\

@15 x M8 x 40 mm

2 pcs

1.2 x M8 x @12 mm

2 x M8 X @19 mm

/-

SV

’@“‘\\\\

@15 x M8 x 40 mm

1.2 x M8 x @12 mm

2 X M8 x @19 mm




M4 x 60 mm

2 x M8 x @19 mm

1.2 x M6 x @11 mm

1.2 x M8 x @12 mm

2 x M6 x @19 mm

@15 x M8 x 40 mm

S
P
@ 8 pcs

®

@13 x M6 x 40 mm




Adjust leaf line up with the side of table top before lock.




\/

L/




	AI BOGARD Model (1)
	AI BOGARD Model (1)
	AI BOGARD Model (1)
	AI BOGARD Model (1)
	AI BOGARD Model (1)

